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5 FE=4E g 4 SEZER ST 4 E 7R
No. i BIESZAT BITENE (1 Sv/h) 5 wa A BITEE (U Sv/h) e we A
1cm 50cm 1m (1 Sv/h) 1cm 50cm 1m (1 Sv/h)
1 KDH5 0.057 0.064 0.053 + 0.051 0.064 0.050 +
2 IRYE 0.097 0.072 0.062 + 0.103 0.073 0.062 +
o i 1 3 &YoIxy 0.059 0.064 0.060 * 0.058 0.058 0.059 +
1 EERENE 4 F5o4 0.074 0.058 0.058 T 0.06 |H27.11.19 0.056 0.054 0.058 T 0.06 |H28.11.30
5 KO 0.175 0.132 0.108 ZH 0.165 0.114 0.101 =
6 1B 0.069 0.049 0.060 +
1 LB 0.080 0.087 0.076 |34 —Fk 0.062 0.070 0.076 |34y —Fk
2 JKErR#Ai5 0.067 0.067 0.074 T 0.066 0.077 0.068 T
3 JKER#AI5 (T EY) 0.085 0.087 0.078 + 0.074 0.062 0.072 +
2 fEILAE 4 ROF(TER) 0.068 0.069 0.069 + 0.07 |H27.11.18 0.061 0.067 0.066 | E-#5% | 006 |[H28.11.30
5 BE 0.146 0.114 0.100 = 0.143 0.104 0.100 =
6 EHRAILDILEE) 0.040 0.046 0.048 +
7 HBEEB(HRILS) 0.053 0.049 0.050 +
1 hi 0.145 0.126 0.128 x 0.117 0.109 0.104 =
2 RUFDTF 0.195 0.136 0.118 x 0.153 0.111 0.123 =
3 W/ KRAE 3 #%E 0.139 0.138 0.115 + 012 |H27.11.18 0.107 0.110 0.102 = 0.09 |H28.11.30
4 J5>O 0.143 0.129 0.117 = 0.102 0.096 0.092 =
5 KERHH 0.115 0.137 0.111 + 0.099 0.104 0.105 =
1 R (GRIEER 0.071 0.069 0.068 + 0.060 0.058 0067 | #E
2 AO&4 0.072 0.081 0.089 | #FI 0.060 0.072 0078 | #E
4 -0 =] Sibiu RN ES 3 Jbfl 0.066 0.085 0.075 + 0.06 |H27.11.18 0.063 0.070 0.087 I 0.05 [H28.11.30
4 1E 0.076 0.079 0.084 + 0.074 0.064 0076 | #E
5 AO 0.080 0.079 0.083 b F 0.071 0.078 0.077 HIE
HEES 0.059 0.074 0.066 + 0.050 0.054 0.063 +
2 J5vo 0.054 0.059 0.057 + 0.049 0.049 0.054 +
s mdt— s =] 3 NUF 0.054 0.051 0.063 + 0.050 0.055 0.064 i
S |BVEH=a—svYARl S e 0050 | 0057| o0057| * 005 | H27.11301 o6 | oos2| oo063| + 0.04 | H28.11.30
5 JL/ANTHI 0.055 0.062 0.060 + 0.067 0.054 0.060 | FbF
6 IEE% 0.048 0.052 0.050 +
1 J5>a 0.058 0.077 0.069 + 0.107 0.075 0.083 +
2 Hih 0.061 0.059 0.060 + 0.053 0.063 0.072 +
w2t )2 F A 3 Eih 0.064 0.057 0.074 = 0.079 0.087 0.083 =
6 | BA/RERAE | (o 0060| o0o064| o0070| =+ 005 [H27.11.271 055 | o0.061 0066 | =+ 005 |H28.11.28
5 §RYE 0.061 0.052 0.059 + 0.056 0.050 0.055 +
6 % 0.052 0.047 0.051 T
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No. e BITE 5T BITEE (1 Sv/h) % e Al g BITEE (1 Sv/h) 4R e Al g
1cm 50cm 1m (¢ Sv/h) 1cm 50cm 1m (1 Sv/h)
1 RUFH 0.064 0.065 0.073 + 0.055 0.065 0.066 +
2 RUFH 0.065 0.073 0.073 + 0.059 0.067 0.067 +
o — 2 3 g 0.067 0.061 0.064 + 0.054 0.062 0.051 x
7 | EZF/EAMAER s B RUFE 0,060 0073 0076 I 0.05 [H27.11.27 0064 0057 0072 ¥ 0.05 |H28.11.28
5 AHA 0.067 0.058 0.062 + 0.062 0.078 0.083 +
6 BER 0.053 0.044 0.073 +
1 HYyh—15(fyYaNo.8) 0.054 0.060 0.065 T 0.058 0.054 0.055 *
2 Yyh—15(Ay¥1No.207) 0.062 0.050 0.059 T 0.051 0.055 0.056 el
3 Hyh—1F{H(*yYaNo.119) 0.049 0.050 0.060 + 0.046 0.045 0.056 *
4 Yyh—15(Ay1No.200) 0.057 0.061 0.060 T 0.046 0.054 0.059 el
5 Hyh—1H(AyYaNo.1) 0.059 0.061 0.062 + 0.057 0.060 0.053 *
6 FFEKIZ(*9Y1No.29) 0.051 0.059 0.060 + 0.049 0.051 0.048 +
7 FFEK/Y7M(*yY1No0.233) 0.055 0.051 0.055 + 0.035 0.048 0.037 *
2 RN /NS 8 EFBkiZ(Ay¥1No.130) 0.041 0.039 0.042 + 0.040 0.054 0.037 +
8 (Im¥I3E) 9 FFEK/Y7M(*yYaNo.224) 0.050 0.059 0.052 + 0.04 |H27.11.13 0.047 0.046 0.039 * 003 |H28.11.28
10 EFEKki5(*9Y1No0.18) 0.047 0.061 0.059 + 0.044 0.039 0.043 T
11 Y7bE =I35(fyY2No.318) 0.056 0.051 0.062 + 0.048 0.040 0.049 T
12 Y7ME = IL35Z(Fy1No.319) 0.044 0.057 0.060 T 0.045 0.055 0.048 el
13 YK =I35(fyY1No.283) 0.053 0.048 0.049 + 0.044 0.052 0.043 T
14 1828 (BrEki5) 0.043 0.046 0.047 s
15 18E% (YR -I35) 0.050 0.048 0.050 b
16 % (Yuh—35) 0.049 0.047 0.050 =1
1 g 0.067 0.073 0.068 + 0.074 0.059 0.057 +
2 ENE 0.086 0.086 0.097 [avs—k 0.072 0.067 0.075 | E-#EE
g 3 FAtsAE 0.088 0.094 0.096 B 0.065 0.074 0.076 | EbFI
S ARENAE 4 AO 0.084 0.097 0.095 = 007 |H27.11.18 0.080 0.096 0.096 B 0.06 | H28.11.30
5 WERTEEEAD) 0.112 0.096 0.114 B 0.086 0.080 0.080 B
6 BE% 0.056 0.075 0.064 +
1 s 0.171 0.156 0.148 Z 0.137 0.142 0.124 -2
2 HA 0.097 0.111 0.118 |a>4)—k 0.086 0.089 0.108 |a>41)—k
3 JeAD 0.169 0.137 0.117 Z 0.142 0.126 0.105 2
10 XEILAE 4 KERH5 0.181 0.155 0.140 z 0.12 |H27.11.30 0.151 0.134 0.129 2 0.11 |[H28.11.28
5 @AO 0.085 0.122 0.119 [a>5y—k 0.087 0.118 0.113 [avoy—k
6 1 (BYOE) 0.166 0.152 0.155 B
7 1BER2 (#£LHER) 0.094 0.087 0.078 ]
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No. i BIESZAT BITENE (1 Sv/h) 5 wa A BITEE (1 Sv/h) e we A
1cm 50cm 1m (1 Sv/h) 1cm 50cm 1m (1 Sv/h)
1 JSUFREA 0.062 0.059 0.068 + 0.058 0.056 0.064 +
2 5 KRR 0.092 0.081 0.080 T 0.070 0.082 0.077 T
1| FEEMLEMAE | 3 F5UKEA 0.124 0.126 0.132 + 0.09 |H27.11.18 0.114 0.137 0.128 + 0.09 |H28.11.30
4 750 0.072 0.116 0.126 + 0.122 0.117 0.099 +
5 BEYRYER 0.130 0.120 0.114 = 0.119 0.109 0.112 HhE
1 F=hitDiEL 0.131 0.107 0.093 = 0.100 0.089 0.091 =
2 MLOE(8TF) 0.130 0.099 0.103 = 0.095 0.104 0.084 =
12 R HBFMRAE 3 BE 0.094 0.086 0.092 VN 0.09 |H27.11.10 0.075 0.083 0.089 /N 0.08 |H28.11.28
4 RESLE 0.113 0.109 0.106 /N 0.076 0.081 0.088 /N
5 Efsi5 0.123 0.119 0.120 | ®b#F| 0.110 0.112 0.106 | FbF|
1 REEGLEDT 0.176 0.133 0.114 | ®>F| 0.120 0.125 0092 | ®F
2 ML 0.063 0.085 0.091 [a>4y—k 0.046 0.071 0.073 [a>4y—k
13 ==10)] I 37N 3 EiEi5 0.087 0.081 0.079 [7Zx77/Lk| 0.08 [H27.11.10 0.102 0.072 0.072 [7Zx77)Lk| 007 |H28.11.28
4 RUF 0.118 0.097 0.096 | ®bF 0.109 0.083 0079 | HF
5 KERHH 0.119 0.101 0.091 b F 0.102 0.089 0.104 |  #bF
1 F—kR—)Li5 0.060 0.070 0.067 + 0.058 0.063 0.063 +
2 HF—bkiR—)Li5 0.076 0.076 0.086 T 0.078 0.080 0.074 T
3 L5 (RIER) 0.057 0.060 0.057 + 0.055 0.066 0.052 +
4 [R5 0.071 0.084 0.083 + 0.074 0.090 0.080 +
14 BEKEFNAE 5 L5 0.065 0.069 0.070 B 0.06 |H27.11.30 0.054 0.064 0.064 =1 0.05 |H28.11.30
6 L% 0.068 0.064 0.068 + 0.047 0.059 0.064 =
7 HESIERERT) 0.071 0.070 0.083 + 0.064 0.062 0.065 +
8 REGEFENT)  BF 0.180 0.114 0.088 + 0.239 0.107 0.076 +
9 EEBNML@EAT) B 0.134 0.094 0.081 b F 0.150 0.080 0.073 b F
1 22BN (L) 0.165 0.141 0.132 " 0.132 0.120 0.136 =
2 ~ERN(EAE) 0.112 0.125 0.122 " 0.114 0.117 0.113 =
3 NENEE) 0.126 0.122 0.114 = 0.106 0.109 0.116 =
15 BLIFHKLE 4 NER(LED 0.080 0.070 0.066 F 0.10 [H27.11.10 0.078 0.086 0.076 R F 0.10 |H28.11.28
5 ~EMA L) 0.155 0.132 0.118 = 0.135 0.119 0.115 =
6 MEWLER 0.078 0.081 0.084 3> 41—k 0.069 0.079 0.071 |a>5y—k
7 REWVWER 0.125 0.096 0.088 + 0.104 0.089 0.082 +
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No. i BIESZAT BITEE (1 Sv/h) 4R wa A% B BITEE (1 Sv/h) 5 wa A% B
1cm 50cm 1m (¢ Sv/h) 1cm 50cm 1m (1 Sv/h)
IIRASIGES) 0.133 0.117 0.131 = 0.133 0.097 0.106 =
2 BIHEN (TS am) 0.139 0.114 0.112 = 0.094 0.110 0.093 =
3 RSN LE) 0.107 0.109 0.111 =1 0.120 0.113 0.109 =1
4 [KEA L) 0.109 0.101 0.095 = 0.086 0.083 0.079 1
= 5 LA (kL ALAED 0.121 0.115 0.112 = 0.115 0.111 0.110 B
16 BT R IR 6 MEL 0372 | om17| ooe7| mm | 010 [MTNI0Ioio6 | on1a|  ooe2| mm | 009 [M281128
7 REW 0.216 0.094 0.101 R 0.100 0.091 0.093 | FbF
8 MmEL 0.290 0.125 0.105 | EbF| 0.095 0.103 0.093 | EbF|
9 MEWL 0.259 0.121 0.103 | FbF 0.146 0.104 0.086 | FbF
10 $E7k O (&K #t) 0.075 0.132 0.122 |FL—Fo% 0.065 0.122 0121 |FL—Fv %

KEFZERMBEFAEOHRRIBOAOMAGE —REFERERAONSBERMOEHELZHHKIE (0.01Z51<) LI-ERDOEETRR CAIESX50cm)
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